PﬂSIFLA,E)(

XT-3815 Parts list

Layout
No.
101
102
102
102
102
103
104
105
106
107
108
109
110
111
112
113
113
114
115
116
117
117
118
118
119
119
120
120
121
121
122
122
123
123
124
124
124
124
124
124
124
124
124
124
126
127
127
128
128
129
130
130
131
131
132
132
133
134
134
134
135
136
137
138
139
140
NONO02
NONO3
NONO04
NONO05
NONO05
NONO06
NONO7

S.

001
001
002
003
004
001
001
001
001
001
001
001
001
001
001
001
002
001
001
001
001
002
001
002
001
002
001
002
001
002
001
002
001
002
001
002
003
004
005
006
007
008
009
010
001
001
002
001
002
001
001
002
001
002
001
002
001
001
002
003
001
001
001
001
001
001
001
001
001
001
002
001
001

Part Number

21819256111
36644016003
3664401600B
3664401600C
3664401600E
39694032000
16670105010
10661030062
10524030102
16670109010
10507030042
23892150907
21863250052
21863015052
21862061900
16670305013
1667030501C
16780101010
36644021000
36646001000
16670302013
1667030201C
10684038102
10684038103
36086016003
3608601600C
36086014003
3608601400C
36086015003
3608601500C
36086017003
3608601700C
10507140082
10507140083
36646005003
3664600500C
36764015003
3676401500C
36764016003
3676401600C
36764017003
3676401700C
36764014003
3676401400C
10503030052
16670307013
1667030701C
36644017003
3664401700C
16670102010
36786001003
3678600100C
10507030063
10507030062
16670304033
1667030403C
21883508213
45591604110
45591614110
45591624110
36784004000
10684038082
10503030063
16670306017
10241300011
10501030062
21700009141
21862033422
21863233801
36644005000
36784035000
CR*24V-L
10283042503

Description

LED Light Module w/LED Cable

15" Front Bezel w/ PCAP Touch Assembly for XT-3X15, Black

15" Front Bezel w/ PCAP Touch Assembly for XT-3X15, Silver

15" Front Bezel w/ PCAP Touch Assembly for XT-3X15, White

15" UV Coating Front Bezel w/ PCAP Touch Assembly for XT-3X15, Silver

15" TFT LCD Panel, w/Packing, w/o LVDS Cable ( AUO: G150XTN03.0) (w/ LED Backlight LCD Panel)
LCD Bracket for XT-3015/4015/5X15/6X15/PS-3415/LM/TM-3X15/E

Pan Head Screw, M3-6L W/SW+PW

Binding Head Self-Tapping Screw,$3-10L/

PCAP Touch Control Board Bracket for XT-3X15/4015/5XXX/6XXX/TM-3X15/PS-3415
Pan Head Screw M3-4L

Control Board for 15" PCAP Touch Panel ( for TPK 15" PCT 1.1T Glass Sensor Touch )
USB 1/O Cable for PCAP Touch Panel Control Board, L=470mm

LVDS Cable for 12"/15" LCD Panel, L=300mm

12"/ 15" LED Backlight Cable for LCD Panel, L=330mm

Plastic Button Cover for XT-3X15/4015, Black

Plastic Button Cover for XT-3X15/4015, White

HDD Track Bracket for XT-3715/3815/3915

2.5" SATA HDD 500G, w/ EVA Sponge (7mm)&E#}55£2395503210370mm

2.5" SATA HDD Bracket Kit for XT-3X15/3X14/4015, w/o HDD

Plastic HDD Cover for XT-3615/3815/3915/4X15, Black

Plastic HDD Cover for XT-3615/3815/3915/4X15, White

Binding Head Screw, #6/32-10L W/SW+W-Ni

Binding Head Screw, #6/32-10L SW+W-NiB

Right Top Cable Router for Gen 7th/8th-E, Black [R#1%5: 36086006013ass

Right Top Cable Router for Gen 7th/8th-E, White R¥15% : 3608600601Css
Lower Right Cable Router for Gen7th/8th-E, Black E#}5% : 36086004013s S
Lower Right Cable Router for Gen7th/8th-E, White [R#}5f : 3608600401Cs S
Lower Left Cable Router for Gen 7th/8th-E, Black & #}5%: 36086005013Cs
Lower Left Cable Router for Gen 7th/8th-E, White E#}5% : 3608600501Cs S

Left Top Cable Router for Gen7th/8th-E, Black [R#}5%:36086007013050

Left Top Cable Router for Gen7th/8th-E, White & $}%%:3608601700C050
Planiform Head Screw M4-8L Ni+Nylok

Planiform Head Screw M4-8L NiBlack+Nylok

Gen7-E Base Assembly, Black (for 15" XT )

Gen7-E Base Assembly, White (for 15" XT )

Gen8-E Base Assembly, w/o PSU Bracket, Black

Gen8-E Base Assembly, w/o PSU Bracket, White

Gen8-E Base Assembly, w/ Bracket for 60W PSU, Black

Gen8-E Base Assembly, w/ Bracket for 60W PSU, White

Gen8-E Base Assembly, w/ Bracket for 80W PSU, Black

Gen8-E Base Assembly, w/ Bracket for 80W PSU, White

Gen8-E Base Assembly, w/ Bracket for 150W PSU, Black (Complies with PU-480 & PU-490)
Gen8-E Base Assembly, w/ Bracket for 150W PSU, White (Complies with PU-480 & PU-490)
Flat Head Screw M3-5L

Plastic Attached Cover, Black

Plastic Attached Cover, White

Plastic DRAM Cover w/ Shielding, Black

Plastic DRAM Cover w/ Shielding, White

Metal Jumper Cover

Back Cover Assembly for XT-3615/3715/3815/3915IR (incl. Subordinate Covers, w/o Cable Cover), Black
Back Cover Assembly for XT-3615/3815/3915IR (incl. Subordinate Covers, w/o Cable Cover), White
Planiform Head Screw M3-6L-NiB

Planiform Head Screw M3-6L

Plastic I/O Cable Cover, Black (For Gen7E & Gen8E)

Plastic I/0 Cable Cover, White (For Gen7E & Gen8E)

Speaker Assemly 2W/8Q w/Boxi

EMMC 8G Adaptor Board

EMMC 16G Adaptor Board

EMMC 32G Adaptor Board

Main Board for XT-3815, w/ Intel Bay Trail-D Celeron J1900, w/ I/O Plate, Ver. B1
Binding Head Screw,#6/32-8L SW+W-Ni

Flat Head Screw M3-6L(Ni-BI)

Plastic Power Button for XT-3X15/4X15, Blue

Push Latch, Black

Pan Head Screw M3-6L

RS-232 Terminator Plug (w/ Logo)

Parallel Conversion Cable, L=400mm

RJ50 To DB9M Cable, L=150mm, Black

WIFI Module Kit for XT-3XXX/4015/5XXX (Single Band)

WIFI & Bluetooth Kit for XT-3815 (dual-INTEL:3160)

CR24V Adapter /Cable Kit

Non-Woven Material 45*25*0.35mm

Goodson Imports Confidential

EOE

27/03/2018 Page 1




PﬂSIFLA,E)(

XT-3815 Parts list

Layout
No.

NONO08
NONO09

NONO09
NONO09
NONO09
NONO09
NONO09
NONO09
NONO09
NONO09
NONO09
NONO09
NON10
NON10
NON10
NON10
NON10
NON10
NON10
NON10
NON12
NON12

NON12
NON13

S.

001
001

002
003
004
005
006
007
008
009
010
011
001
002
003
004
005
006
007
008
001
002

003
012

Part Number

10290200041
36074037000

36074038000
36074039000
3607403800C
36074035000
36074036000
36074040003
3607404000C
36074041003
3607404100C
3607403500C
36074012003
3607401200C
36074007003
3607400700C
36074006003
36074029003
3607400600C
3607402900C
39004023000
39004024000

39004022000
21868100510

Description

USB Cover

Powered USB Kit for Gen8(E)/ 8.5 Base for XT-3815/3817/6315/6515, w/150W Power Adaptor & module ; w/o Power
Adaptor Bracket (PU-490)

Powered USB Upgrade Kit for Gen8(E)/ 8.5 Base for XT-3815/3817/6315/6515, w/150W Power Adaptor &150W Power
Adaptor Bracket & Module (PU-490) (w/Level 5 Power Adaptor), Black

PU-490 Powered USB Module Kit for Gen8(E)/ 8.5 Base for XT-3815/3817/6315/6515 (w/o 150W Power Adaptor &
150W Power Adaptor Bracket )

Powered USB Upgrade Kit for Gen8(E)/ 8.5 Base for XT-3815/3817/6315/6515, w/150W Power Adaptor &150W Power
Adaptor Bracket & Module (PU-490), White

Powered USB Upgrade Kit for Gen8(E)/ 8.5 Base for XT-3815/3817/6315/6515, w/150W Power Adaptor &150W Power
Adaptor Bracket & Module (PU-480), Black

PU-480 Powered USB Module Kit for Gen8(E)/ 8.5 Base for XT-3815/3817/6315/6515, (w/o 150W Power Adaptor &
150W Power Adaptor Bracket )

Powered USB Upgrade Kit for Gen8(E)/ 8.5 Base for XT-3815/3817/6315/6515, w/150W Power Adaptor &150W Power
Adaptor Bracket & Module (PU-490) ( w/Level 6 Power Adaptor), Black

Powered USB Upgrade Kit for Gen8(E)/ 8.5 Base for XT-3815/38156315/6515, w/150W Power Adaptor &150W Power
Adaptor Bracket & Module (PU-490), White ( w/Level 6 Power Adaptor)

Powered USB Upgrade Kit for Gen8(E)/ 8.5 Base for XT-3815/3817/6315/6515, w/150W Power Adaptor &150W Power
Adaptor Bracket & Module (PU-480), Black ( w/Level 6 Power Adaptor)

Powered USB Upgrade Kit for Gen8(E)/ 8.5 Base for XT-3815/3817/6315/6515, w/150W Power Adaptor &150W Power
Adaptor Bracket & Module (PU-480), White ( w/Level 6 Power Adaptor)

Powered USB Upgrade Kit for Gen8(E)/ 8.5 Base for XT-3815/3817/6315/6515, w/150W Power Adaptor &150W Power
Adaptor Bracket & Module (PU-480), White

60W Power Adaptor Kit for Gen 8th Base, Black (CEC6)

60W Power Adaptor Kit for Gen 8th Base, White (CEC6)

80W Power Adaptor Kit for Gen 8th Base, Black

80W Power Adaptor Kit for Gen 8th Base, White

150W Power Adaptor Kit for Gen 8th Base, Black (CEC6)

150W Power Adaptor Kit for Gen 8th Base, Black ( w/Level 6 Power Adaptor)

150W Power Adaptor Kit for Gen 8th Base, White (CEC6)

150W Power Adaptor Kit for Gen 8th Base, White ( w/Level 6 Power Adaptor)

Power Adaptor 12V/60W (CEC6)

Power Adaptor 12V/80W (CEC5)

Power Adaptor, 12V/150W (CEC6)

Power Cord for Australia for Power Adaptor 80W/100W/130W/150W, L=1800mm, With IEC-C5 Connector

Goodson Imports Confidential

EOE

27/03/2018 Page 2




